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Q1. The stem-and-leaf diagram shows the number of sweets in each of 25 bags.

key 3 |8 represents 38 sweets

() Calculate the range of the number of sweets in the bags.

(b)  Write down the mode of the number of sweets in the bags.

ANSWEL ot

(c) Two extra bags each contain 51 sweets.
This information is added to the stem-and-leaf diagram.

(i)  State, with a reason, whether the range has changed.

(i) State, with a reason, whether the mode has changed.

Q2. 23 students sat a one hour examination.
The actual times, in minutes, to complete the examination are shown.

40 37 52 43 48 60 31 44
58 60 44 33 47 54 59 60
43 52 50 48 60 37 41

@

@)

@)

@)
(Total 5 marks)

Page 2 of 8



(@) Construct an ordered stem-and-leaf diagram for the results.

Remember to include a key.

(b) (i) Write down the mode of the data.

(i) Give areason why this value occurred so often.

(c) The data is shown in a box plot.

a0 40 A0 all
Actual time (minutes)
(i)  Write down the median.
ANSWET ..o

minutes

(4)

@)

@)

@)
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(i)  Work out the inter-quartile range.

)
(Total 9 marks)

Q3. The stem and leaf diagram shows the ages, in years, of 15 members of a badminton club.

Eey: | 2 | 7 means an age of 27 years

2 K 8

3 0 2 4 t

4 1 2 3 3 4 fi
5 3 fi

v} 2

(& What is the median age of the members?

ANSWET oot years
(1)
(b) What is the range of the ages?
ANSWET ot years
1)
(Total 2 marks)
Q4. The ordered stem and leaf diagram shows the number of cameras sold each day, over a

period of 20 days.

Key | 1| 2 represents 12 cameras
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The next day 28 cameras are sold.
Does the median increase, decrease or stay the same?
You must show your working.

(Total 3 marks)

Q5. A rounders coach records the number of rounders the players in her squad scored in a
season.
All the players scored at least once.
She shows the data in a stem and leaf diagram.

Key ‘ 2 ‘ 7 represents 27 rounders scored

0 1 1 2 7
1 2 5 5

2 3 7

3 6

4 0

5 0 9

(8 What is the range of the data?

ANSWET ...
(1)
(b) How many players are there in the squad?
ANSWET ..o,
1)
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(c) What is the median number of rounders scored?

ANSWET <.ttt
(1)
(d) Calculate the mean number of rounders scored.
ANSWET ..o,
3
(Total 6 marks)
Q6. The number of visitors to a garden centre is recorded for 20 days.

The results are shown in the ordered stem-and-leaf diagram.

2 represents 52

Key visitors

(@) What was the greatest number of visitors to the garden centre on one day?

ANSWET ..o,
1)
(b) Calculate the median number of visitors to the garden centre.
ANSWET ..o,
2

(Total 3 marks)
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Q7.

A form teacher records the number of times her students were late during a term.

She shows the data for those who were late in a stem and leaf diagram.

Key ‘ 2 ‘ 7 represents late 26 times

0 1 1 2 6
1 2 4 4

2 3 6

3 2

4 0 9

5 0

17 students were never late.
Calculate the mean number of times students were late for the whole form.

(Total 4 marks)
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